
1 вариант.
1.Вычисли.
	60+30=
	57+40=

	50-31=
	43+6=

	30-5=
	20+64=

	47+3=
	48-40=



2.Сравни, поставь знаки «>», «<» или «=»
36-4        36-6
7+32       32+7
75-30      30+25
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2 вариант.
1.Вычисли.
	70+20=
	47+50=

	60-42=
	35+4=

	80-6=
	40+56=

	54+6=
	75-30=



2.Сравни, поставь знаки «>», «<» или «=»
88-7        98-7
6+72       72+6
64-20      30+24

2 вариант.
1.Вычисли.
	70+20=
	47+50=

	60-42=
	35+4=

	80-6=
	40+56=

	54+6=
	75-30=



2.Сравни, поставь знаки «>», «<» или «=»
88-7        98-7
6+72       72+6
64-20      30+24

2 вариант.
1.Вычисли.
	70+20=
	47+50=

	60-42=
	35+4=

	80-6=
	40+56=

	54+6=
	75-30=



2.Сравни, поставь знаки «>», «<» или «=»
88-7        98-7
6+72       72+6
64-20      30+24
[bookmark: _GoBack]
